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= 30,984
Al 42,535
307 21201 A 73,519 70,060 3,459
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-2 ¥ STAY 9,000
TTESMEAR 2 EESE A
9,000,000 9,000
03 BIZHNHE2IHIEL 317,818 322,707 A 4,889
O SAEEH 22 XA 317,818
NN 144,171
HEHE (52 208 8) 4,500,600 13 4,501
CHEHE (5 218 8) 25,207,000 25,207
- MNRIE(62 2088) 3,878,100& %98 34,903
- MRIE(63 2158)  3,938,200& +3& 11,815
-Hel(8z 158 s) 2,862,200 x1& 2,863
- el (82 168 8) 2,928,300 x11& 32,212
AR (82 138 8) 2,722,500 123 32,670
NCETE-E=EN=) 14,033
HER (53 205 2)
4,500,600 *50%* 13l 2,251
MR (5 2152)
4,564, 200& x50%* 13| 2,283
AR=ZE(62) 3,878, 100 x50%*23] 3,879
el (82 1558) 2,862,200 *50%+ 13 1,432
-Uel(8z 16:s) 2,928,300 x50%+ 13l 1,465
AHR(82) 2,722 ,500% x50%*23| 2,723
-E2=Etts 4,320
HEE(63/F ot 2 £ &)
10,000& =128 1,320
ARZE (62, FI10tat=2 &)
110,000& 128 1,320
- thel (154 01 4t) 80,000& x12& 960




2N

EPARSE )

o GAZA BE2E
©9: NBZA 22 &p oEe)
S B G(SA) - NRANY - BES il 2
AR (109 01 &) 60,0003 x12& 720
s 2,880,000 2,880
-ZU2fE 4,578
ANRZ2E(62) 12,1243 x12A 2+ %123 1,746
- el (s=2) 9,832& *12A1 2+« 128 1,416
A (8E) 9,832& x12Al 2t 128 1,416
- A G A 140,000& »4H «12& 6,720
-HE SOl 16,913
HEE(52) 4,564, 2003 60%*23] 5,478
ANE=E(62) 3,878, 100 *60%*23] 4,654
- el (8=2) 2,928,300& *60%*23] 3,514
AR (82) 2,722 ,500% *60%*23] 3,267
- JtE &l 4,051,000 4,051
e = 8,460
- HHE(52) 250,000& 1228 3,000
ARZ2E(62) 165,000 «12& 1,980
- el (83), A3 (83)
145,000& »2H «12& 3,480
-ATAAH(HSRES ) 39,000,000& 39,000
SJIZHZ2ER S E5(1Y) 24,522
s 9, 160 *209Al 2t 113 21,059
ANzt 2R+ 14, 730& x12A1 2+ + 113 1,945
M3 137,940 «11& 1,518
-AR 22l ] 14,400,000& 14,400
-HEFEAAY OteH ¥ SN2
1,638,000 1,638
-2EHA(BES10), 2UlA, &2 P
7,238,000 7,238
-S329gHl 19,864,000 19,864
-O1 i 3,830
TEsSAE2+80H(5Y) 950,000& 950
=280t (3Y) 2,880,000 2,880
—HH2EYRFA 1,200,000& 1,200
NHASAEH AKX A 35,000 30,000 5,000
=) 5,000
Al 30,000
307 glz2tol & 35,000 30,000 5,000
& 5,000
Al 30,000
04 QIZFHALAIH E = 35,000 30,000 5,000
OXNFSAEH BAXNHA (0TS NIREAAM
) 35,000,000& 35,000
=) 5,000
Al 30,000




SN =SXHHD

My A=A BELE
Chel: HESA 23 AN (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HHSAH 25 X& 1,300 1,840 A 540
201 £B-2d| 1,000 1,000 0
01 At 22l 1,000 1,000 0
OS2 NaASA 23X& 1,000, 000& 1,000
202 o4dl 300 840 A 540
01 = LH o4 1l 300 840 A 540
OXNZSALR =HAHI 300,000 300
FAE SSUES AMY K& 5,800 5,800 0
307 21201 A 5,800 5,800 0
02 ItFAAHE X 5,800 5,800 0
OFAaY stsWEE AH XI& 5,800,000& 5,800
Aol BERHLESD] AFRY KT 17,300 17,300 0
307 21201 A 17,300 17,300 0
02 IZtE S AIHE L 17,300 17,300 0
OArgtel gratlb=I1 AF XI& 17,300,000 17,300
=X SAtg 29 K& 4,000 0 4,000
307 glz2tol & 4,000 0 4,000
02 PIZHEHAHE L 4,000 0 4,000
O=XSAtal 2K 4,000,000& 4,000
KNSASISXHA & 5,065,443 5,222,801 A 157,358
= 587,109
< 2,503,174
Al 1,975,160
NDAte =X21g 2= 2,670,461 2,642,600 27,861
= 52,279
< 845,493
Al 1,772,689
NSAS =X 2 BA2SE 151,750 150,970 780
201 L2l 9,950 8,550 1,400
01 At 22l 9,950 8,550 1,400
O=sXJla =& X 3,000,000& 3,000
OMI=RRF HHEEZ 25,000& x90H 2,250
OXYGMIETAY EE22 M (B2 S)
50,000& *22H 1,100
OMEBHZNHA EHE PU(B29 5)
50,0003 904 43 1,800
OF=Jl & SIHF) dx=
50,000& 30 122 1,800
202 O4dl 500 1,120 A 620
01 SLHAYI 500 1,120 A 620




SN =SXHHD
o NAASIS XA e
Sl KSAtE =SX0Ig 1S

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXSAB=XNXH HRFA 500,000& 500
203 YR =2l 9,000 9,000 0
03 AIMFAH S Z=AY| 9,000 9,000 0
O=sXNEHU A=A =XH 9,000,000 9,000
301 EEd = 132,300 132,300 0
0B A =R RAB A4S 132,300 132,300 0
OMI=22R SAH| 7,000 «90H 210 132,300
ANZAMII=XNEASIMIISXNEZHEHZYG 42,000 35,000 7,000
< 12,600
Al 29,400
307 glz2tol & 42,000 35,000 7,000
< 12,600
Al 29,400
10 AL SXAIEEE 2 H EX 42,000 35,000 7,000
OAtgI =X s 22 (1HL) 42,000,000& 42,000
< 12,600
Al 29,400
ANAMEHE AN 23 60,000 60,300 A 300
201 et 60,000 60,300 A 300
01 At 22l 60,000 60,300 A 300
OXNYGAZEZEAN A& &=
100,000 »45% *43| 18,000
O NAAMNIEZEAM F& &=
30,000 =140 =103l 42,000
AN NDAS2EEEM SR RAAS 174,000 130,020 43,980
< 15,000
Al 159,000
307 glz2+ol & 174,000 130,020 43,980
< 15,000
Al 159,000
10 ALSISXAIEEE2GH EX 110,500 106,520 3,980
OXYAsI2ZEAM 2L X3 110,500,000& 110,500
< 9,900
Al 100,600
11T AS S RAEE = 63,500 23,500 40,000
OXGASI2HEEAM AMEXR 23,500,000 23,500
< 2,040
Al 21,460
OMB5Il XIFEASIEFHE =8 X
40,000,000& 40,000
< 3,060
Al 36,940
NAASEZEAN 2103 3,000 3,000 0
201 L4l 3,000 3,000 0




2N
D XAE S TIHA 2

el

X ZH
S =

EPARSE )

KA A X018 2=

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
03 A2 Z Hl 3,000 3,000 0
OXNSASEHE AN HA2FdY 2103
3,000,000 3,000
S8s ANGAE2ZEAN 45 XA 8,000 8,000 0
< 2,400
Al 5,600
201 ¢er24| 8,000 8,000 0
< 2,400
Al 5,600
01 At 22l 8,000 8,000 0
O NAANIEZEAM 43 K&
1,000,000& =8 = 8,000
< 2,400
Al 5,600
NAAEHE AN A2t 10,000 10,000 0
201 Let4d] 10,000 10,000 0
03 A2 Z HI 10,000 10,000 0
ONGASEEEAM 225 W= (300)
10,000, 000& 10,000
S Atd 2t RN 8,100 8,580 A 480
201 Let24d] 7,600 7,600 0
01 At 2teltl 7,600 7,600 0
OSEAtdl 2l 42X% AEdst us
1,040,000& 52| 5,200
SHEL - VPN
100,000 »4H x53] 2,000
OZsSXad g2 M& 50,000& *8o = 400
202 O4dl 500 980 A 480
01 = LH 4 1l 500 980 A 480
OAtell 2tel S+l 500,000& 500
fetssdH 29 10,000 104,000 A 94,000
< 4,000
Al 6,000
201 LBt2H| 10,000 10,000 0
< 4,000
Al 6,000
01 At 22l 7,000 7,000 0
ORst==sHEH AR 22| 7,000,000 7,000
< 2,800
Al 4,200
02 =24l 3,000 3,000 0
Ofstss4dH S32gHl 3,000,000& 3,000
< 1,200
Al 1,800




SH SNEHY
o NAASSXHA =

e XGAg EX0IE 25 (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
ANZF S At &2l AR 10,000 10,000 0
= 5,000
& 750
Al 4,250
201 gEt24dy| 3,000 3,000 0
= 1,500
= 225
Al 1,275
01 AP 22| H| 3,000 3,000 0]
OAtdl &2l At 22ldl 3,000,000& 3,000
= 1,500
=} 225
Al 1,275
301 dEtE M= 7,000 7,000 0
= 3,500
& 525
Al 2,975
01 Al B & X 262 7,000 7,000 0
OAtdl &2l At HI 7,000,000& 7,000
= 3,500
= 525
Al 2,975
MED M S 29 3,700 3,700 0
201 et d| 1,000 1,000 0]
01 AFR 2t 2| H| 1,000 1,000 0
OsE2 ¢ 49 Mz 1,000, 000& 1,000
301 et A = 2,700 2,700 0
09 SHAIAHI X & 2 1,500 1,500 0
OFEWHE 35 75,0002 10 23| 1,500
12 JIEtE2 &= 1,200 1,200 0
OFNHE 3o EFA& 10,000 «10Y¥ x12& 1,200
MASS s Y AF 8 XS 3,940 4,018 ANT8
== 3,940
101 Q124 H| 3,940 3,464 476
= 3,940
04 JI2ZtHIZ22NEES 3,940 3,464 476
Onsdl A &4 o2 3,940
-J=23 1,914,4403 x2H 1 & 3,829
== 3,829
A28 2 S JIEt249H| 111,000 111
= 111
G-ZEECE AIY 29 33,000 30,000 3,000
& 9,900
Al 23,100




SH SNEHY
o NAASSXHA =

&2 XFAE SXIIE 25 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
307 glz2tol & 33,000 30,000 3,000
= 9,900
Al 23,100
10 ALl SXAIEEE 2 H EX 33,000 30,000 3,000
OGFEEY AE2dY 33,000
-DCIWIOIH 2A4HI(1Y) 33,000,000& 33,000
= 9,900
Al 23,100
AN EEYT NAQIRAE HB) 25,000 25,000 0
307 21201 A 25,000 25,000 0
10 AL SXNAIEEE2EHEX 25,000 25,000 0
OFE W AISX& 10,600,000 10,600
OZFEW3 oAl K& 14,400
-dgors oAy (1Y) 1,200,000& = 12& 14,400
AN ZFEYT SAML LA 1,200 1,200 0
< 1,200
301 LEMZ 1,200 1,200 0
< 1,200
01 MI2ZE+06l= 1,200 1,200 0
OZFCS YW SAL MRMASHI(2Y)
50,0003 x2H 128 1,200
< 1,200
ZJ19el OdEgad 29X 33,000 0 33,000
< 33,000
307 2201 A 33,000 0 33,000
< 33,000
10 AL SXNAIEEE2EHEX 33,000 0 33,000
OZllgielagegaly oyl X&
2,750,000 x1H x12& 33,000
< 33,000
Mol 2=l X3 (KHA) 240 240 0
201 Let24d] 240 240 0
02 =24l 240 240 0
OMi RS ERAIAE SHEI| X
20,000& 123 240
ASISXSAT HRHH A 45,000 45,000 0
201 et 15,000 15,000 0
01 At 22l 3,000 3,000 0
OMESXNLRELESFE deladgd X
100,000& 10 *33l 3,000
03 &Ar2 I 12,000 12,000 0
OAMIA=SXA & d&Z3 W= 12,000,000 12,000




SH SNEHY
o NAASSXHA =

Sl XIAE =XOIE RS (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 30,000 30,000 0
02 PIZHEHAHEE 30,000 30,000 0
OMSISXANEEAL oH2 A&X HHIN=S
1,500,000& 20H 30,000
M2 SXAIE SAX Ex0=SH X 18,240 14,000 4,240
< 9,120
Al 9,120
301 LeBAF 18,240 14,000 4,240
< 9,120
Al 9,120
01 MI2ZE 6= 18,240 14,000 4,240
OAtgI S XA B+ SHl X3 (285%)
18,240,000& 18,240
< 9,120
Al 9,120
AMSISXAIE SAX doiEH X 7,000 11,790 A4,790
< 3,500
Al 3,500
301 LA F 7,000 11,790 24,790
< 3,500
Al 3,500
01 MI28E 6= 7,000 11,790 24,790
OAtgI S XA A2 & dl XI&(700H)
7,000,000 7,000
< 3,500
Al 3,500
AtBIZ Xl A2 A K& 3,000 3,000 0
307 21201 A 3,000 3,000 0
11T MISRASEEX 3,000 3,000 0
OAMEI=XI2 & JI8d8A XI& 3,000,000& 3,000
S AOIOL &AF X & 31,000 31,000 0
307 gl2tol & 31,000 31,000 0
11 ALS S XALEE = 31,000 31,000 0
O ALOIOl & A XI& 31,000, 000& 31,000
S8s %EE SEgMHA XA 67,541 67,233 308
= 47,279
< 3,039
Al 17,223
201 L4l 33,771 33,617 154
= 23,640
< 1,520
Al 8,611
01 At 22l 33,771 33,617 154




2N

X ZH
S =

S AE S XA

el

=X F & D
sg

KA A X018 2=

SA -

HD - e (220) - KIS AY

B2

Off &t 24

=

i
2m

OSYS AtdlZel ARZeldl(8HS)

33,771,000&

= MW

33,771
23,640
1,520
8,611

= W

33,770
23,639
1,519
8,612

33,616

154

2Hl (8 E)
33,770,000&

= 0N

33,770

33,770
23,639
1,519
8,612

33,616

154

842,270

790,724

51,546

842,270

790,724

51,546

2 ol (120Y)
wSHI(120%)
2 ml=tl(50%)

749,620,000
75,805,000&
16,845,000&

842,270
749,620
75,805
16,845

790,724

51,546

= M

,058,000

740,600
317,400

1,058,000

2l

Al

,058,000

740,600
317,400

1,058,000

1,058,000, 000&

H

Al

,058,000
,058,000

740,600
317,400

1,058,000

fI10l1= &€= X&

Al

21,480

6,444
15,036

18,225

3,255

301 LEIEN S

H

Al

21,480

6,444
15,036

18,225

3,255

12IIEtE 4=

O=IJI012 g= X2 (487%) 21,480,000&

= M

21,480

21,480

6,444
15,036

18,225

3,255

H

s
ro
Jt

JADAE-:]

= N H

—_

, 394,982

534,830

,657,681

202,471

2,580,201

A185,219
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X ZH -
L= B

el

EPARSE )
KNSAAS SR HA &8

=0 SXXH

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

C=QAE S0l

= N H

500,000
450,000
35,000
15,000

500,

000

307 21201 &

= N H

500,000
450,000
35,000
156,000

500,

000

M ARISXAISE L2

O HEA

B b

= N H

500,000
500,000

450,000
35,000
15,000

500,

000

@ H
=
e
>
nx
Ho
02
(=
H
A
e
=
i
0]
02
>
nx
=
o
™
o
>

H

,503,057

,503,057

1,481,

265

21,792

tn

,503,057
,503,057

1,481,

265

21,792

OL=QIHEANE 22 (10HA)

1,503,057,000&

n

1

1
1

,503,057

,503,057
,503,057

1,481,

265

21,792

C=0AE NRH(==THEQLAEXR)

fn

Al

97,955

29,386
68,569

101,

560

A 3,605

307 gIz2tol &

=

97,955

29,386
68,569

101,

560

A 3,605

=
ton

B
>
>
Q
H
A

e
=
ik
>
x

XI&HI(19H4)  97,955,000&

= H

97,955

97,955
29,386
68,569

,560

A 3,605

=0 THEAIE SALA

Jm
1
b
10
1
o0
pal
0

= M

92,610

27,783
64,827

91,

260

1,350

= M

92,610

27,783
64,827

91,

260

1,350

ANE BANX S22 X HI(
)

92,610,000&

(e}

= M

92,610

92,610

27,783
64,827

91,

260

1,350

C=0 HEAE SAR MRMMAH X

n

16,200
16,200

,200

16,200

,200
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S =

S AE S XA

el

=X 3
g

A
L=0l

S XA

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 16,200
01 MEIBZE 06z 16,200 16,200 0
C=0ITHEAIE SAER HMHAH XIS (14
2,2719Y) 16,200, 000& 16,200
< 16,200
HAX E3 2,700 14,700 A 12,000
301 LEEXZ 2,700 14,700 A 12,000
12JEEd = 2,700 14,700 A 12,000
Odld i &=l 300,000& =3 900
O#HAX LAI=2dl 2 A0
150,000& 128 1,800
SHD AL X Zeldl X 12,800 0 12,800
< 3,840
Al 8,960
301 LEEXZ 12,800 0 12,800
< 3,840
Al 8,960
12 JIE24 3 12,800 0 12,800
Oger 2AD AP Zefidl K& (8Y)
12,800, 000& 12,800
< 3,840
Al 8,960
C=0AE JIsE 169,660 375,216 A 205,556
= 84,830
< 42,415
Al 42,415
402 RIZEX201 A 169,660 375,216 A 205,556
= 84,830
< 42,415
Al 42,415
02 LA TEALEZ(0IETHR) 169,660 375,216 A 205,556
OL=0AlE JISEL(SHANME AHISA)
169,660, 000 169,660
= 84,830
< 42,415
Al 42,415
HY2HIH (SR =) 246,328 258,931 A 12,603
= 49,971
< 40,046
Al 156,311
Jl2ZHI(2XF 20 33,150 51,880 A 18,730
Jl2ZH (SXE 20 33,150 51,880 A 18,730
201 Zer24] 20,120 20,120 0
01 At 22/l 20,000 20,000 0
OFRNM2I AR 22l 20,000,000& 20,000
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M HY2IZH(SXNZ D)
©@el: JI23H(SXNE D) (Sl & &)

- ®}M . (B ) -

N2 A

01
o

=
i

2

120,000&

120
120

120

202

7

,000

25,

920

N 18,920

01 =

7,000,000

7
7

,000
,000

25,

920

A 18,920

203

1%

Bl
>
=2

4

,980

,040

A B0

04

x| 40
Mo

O 4t

!

x

H0 02
A
=

09 9
© 40
40 4
B

[pal
=
w
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02

415,000& 122

4
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,980
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,040

A 60

405
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ﬂ
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1

,050

800

250

01

O O O
=
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rx
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0
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02
TS
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e

1
©e

1
©

300,000 14
200, 000& =24
350,000 1K

1

,050

300
400
350

800

250

re
Jg

H0

(11
==

il
=
0z
2
=

= MW

213,
971
,046
123,

49
40

178

161

207,

051

6,127

H

Al

113

49
63

,063

,971
,092

109,

851

3,212

109

,288

48,084
61,204

109,

A 563

03

el
=)
O

cll 22l At @

I s
=

=

(2
E3tA
-J

-

[

HI

JTa
b}
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ry

=5

(m

HI
e
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pal
N
rJ
JF
(m

H
e
i
pa|
rJ
J
w
m

2554

18,7403 +1H »12A1 2t%12

A2 2NE S
o124 HI(3

%)

2,609,280 1

2,415,610« 18«

2,353,090& 1

=128

128

=128

=

H

Al

H

Al

H

Al

H

Al

109,288
109,288
88,538

31,312

15,656
15,656

28,988

14,494
14,494

28,238

14,119
14,119
7,629

2,699

1,350
1,349

109,

A 563
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SN =NEH
B AR (SNEHY)
Crel: o2 ol (SN (el @)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
< 24,925
Al 37,388
-HEAIZ2L(BEASK2, 2H54E/2574)
(18,560 1 *12A1 2+ + 12 )+( 18,740 x 1 « 5,372
12A12b+128)
< 2,147
Al 3,225
OPRIZtArAI 22l At =& (2Y) 8,221
SHEHIMI(BASX2, 2E4E/2474H)
(3,100, 1303 12 )+(3, 131, 1403 1Y ) 6,232
< 2,493
Al 3,739
RS FEIL(BEASN2, 25449/257
4) 1,989
(98,9603 * 1 +102! )+(99,920& 1€ *10L )
=) 796
Al 1,193
04 H=RE=SS 24,209 0 24,209
< 9,685
Al 14,524
01 H=RE= 3,120 0 3,120
o=z 2E3 3,120,000 3,120
= 1,248
Al 1,872
02 ZAHLEES 3,000 0 3,000
OdZ, IYEE &3 3,000,000 3,000
=) 1,200
Al 1,800
04 SR (RIHY 2N VEBEZRLZS 18,089 0 18,089
OnE, MMEEE 2,400,000 2,400
= 960
Al 1,440
OEIAAE= 15,689,000& 15,689
=) 6,277
Al 9,412




